## BID TABULATION

CONTRACT:	D6D1.POC.008	PF	ROJECT:	Washouts &	Scour Repairs			COUNTY:	Robeson				
WBS NO .:	15406.1078268, etc.		ROUTE:	US 74 & NC	72			DATE:	9/19/2019				
	Site 1 - 15406.1078268 - US 74	ļ.		Baxley Co	orporation	Highland	Highland Paving		Rufus Young Construction		Columbus Utilities		ntracting Co.
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$5,000.00	\$5,000.00	\$2,300.00	\$2,300.00	\$3,500.00	\$3,500.00	\$8,000.00	\$8,000.00	\$10,000.00	\$10,000.00
20	Grading	1	LS	\$2,000.00	\$2,000.00	\$8,000.00	\$8,000.00	\$400.00	\$400.00	\$2,500.00	\$2,500.00	\$2,800.00	\$2,800.00
30	Traffic Control	1	LS	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$3,000.00	\$3,000.00	\$5,500.00	\$5,500.00	\$3,000.00	\$3,000.00
40	Silt Fence	150	LF	\$2.00	\$300.00	\$3.00	\$450.00	\$4.00	\$600.00	\$6.00	\$900.00	\$6.00	\$900.00
50	Class B Stone (Includes Geotextile Fabric)	35	TON	\$50.00	\$1,750.00	\$50.00	\$1,750.00	\$90.00	\$3,150.00	\$100.00	\$3,500.00	\$145.00	\$5,075.00
60	Matting for Erosion Control (Non-Nylon)	150	SY	\$2.00	\$300.00	\$5.00	\$750.00	\$5.00	\$750.00	\$15.00	\$2,250.00	\$5.00	\$750.00
70	Seeding and Mulching	1	LS	\$200.00	\$200.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$1,800.00	\$1,800.00	\$2,750.00	\$2,750.00
80	Wattle	50	LF	\$5.00	\$250.00	\$10.00	\$500.00	\$3.00	\$150.00	\$15.00	\$750.00	\$15.00	\$750.00
90	Floating Turbidity Curtain	70	SY	\$5.00	\$350.00	\$38.00	\$2,660.00	\$20.00	\$1,400.00	\$10.00	\$700.00	\$80.00	\$5,600.00
	SUBTOTALS				\$16,150.00		\$23,410.00		\$13,450.00		\$25,900.00		\$31,625.00
				Baxley Co	\$16,150.00 orporation	Highland		Rufus Young	\$13,450.00 g Construction	Columbu	\$25,900.00 Is Utilities	Barnhill Cor	
	SUBTOTALS Site 2 - 15406.1078272 - NC 72 DESCRIPTION			Baxley Co UNIT COST		Highland UNIT COST		Rufus Young UNIT COST		Columbu UNIT COST	• •	Barnhill Cor UNIT COST	\$31,625.00
	SUBTOTALS Site 2 - 15406.1078272 - NC 72	2	LS	UNIT	orporation TOTAL	UNIT	Paving TOTAL	UNIT	g Construction TOTAL	UNIT	s Utilities TOTAL	UNIT	\$31,625.00 htracting Co. TOTAL
	SUBTOTALS Site 2 - 15406.1078272 - NC 72 DESCRIPTION	QNTY.	LS	UNIT COST	orporation TOTAL COST	UNIT COST	Paving TOTAL COST	UNIT COST	g Construction TOTAL COST	UNIT COST	IS Utilities TOTAL COST	UNIT COST	\$31,625.00 htracting Co. TOTAL COST
LINE	SUBTOTALS Site 2 - 15406.1078272 - NC 72 DESCRIPTION Mobilization	<b>QNTY</b> .		UNIT COST \$5,000.00	TOTAL COST \$5,000.00	UNIT COST \$2,300.00	Paving TOTAL COST \$2,300.00	UNIT COST \$6,000.00	TOTAL COST \$6,000.00	UNIT COST \$8,000.00	s Utilities TOTAL COST \$8,000.00	UNIT COST \$6,500.00	\$31,625.00 htracting Co. TOTAL COST \$6,500.00
LINE 10 20	SUBTOTALS Site 2 - 15406.1078272 - NC 72 DESCRIPTION Mobilization Grading	<b>QNTY</b> .	LS	UNIT COST \$5,000.00 \$2,000.00	TOTAL COST \$5,000.00 \$2,000.00	UNIT COST \$2,300.00 \$7,500.00	Paving TOTAL COST \$2,300.00 \$7,500.00	UNIT COST \$6,000.00 \$500.00	<b>Construction</b> <b>TOTAL</b> <b>COST</b> \$6,000.00 \$500.00	UNIT COST \$8,000.00 \$2,500.00	s Utilities TOTAL COST \$8,000.00 \$2,500.00	UNIT COST \$6,500.00 \$2,800.00	\$31,625.00 htracting Co. TOTAL COST \$6,500.00 \$2,800.00
LINE 10 20 30	SUBTOTALS Site 2 - 15406.1078272 - NC 72 DESCRIPTION Mobilization Grading Traffic Control	<b>QNTY</b> . 1 1 1	LS LS	UNIT COST \$5,000.00 \$2,000.00 \$6,000.00	TOTAL COST \$5,000.00 \$2,000.00 \$6,000.00	UNIT COST \$2,300.00 \$7,500.00 \$1,300.00	Paving TOTAL COST \$2,300.00 \$7,500.00 \$1,300.00	UNIT COST \$6,000.00 \$500.00 \$2,500.00	Construction TOTAL COST \$6,000.00 \$500.00 \$2,500.00	UNIT COST \$8,000.00 \$2,500.00 \$2,600.00	s Utilities TOTAL COST \$8,000.00 \$2,500.00 \$2,600.00	UNIT COST \$6,500.00 \$2,800.00 \$3,000.00	\$31,625.00 htracting Co. TOTAL COST \$6,500.00 \$2,800.00 \$3,000.00
LINE 10 20 30 40	SUBTOTALS Site 2 - 15406.1078272 - NC 72 DESCRIPTION Mobilization Grading Traffic Control Silt Fence Class B Stone	QNTY. 1 1 1 1 1 150	LS LS LF	UNIT COST \$5,000.00 \$2,000.00 \$6,000.00 \$2.00	TOTAL COST \$5,000.00 \$2,000.00 \$6,000.00 \$300.00	UNIT COST \$2,300.00 \$7,500.00 \$1,300.00 \$3.00	Paving TOTAL COST \$2,300.00 \$7,500.00 \$1,300.00 \$450.00	UNIT COST \$6,000.00 \$500.00 \$2,500.00 \$6.00	Construction TOTAL COST \$6,000.00 \$500.00 \$2,500.00 \$900.00	UNIT COST \$8,000.00 \$2,500.00 \$2,600.00 \$6.00	s Utilities TOTAL COST \$8,000.00 \$2,500.00 \$2,600.00 \$900.00	UNIT COST \$6,500.00 \$2,800.00 \$3,000.00 \$6.00	\$31,625.00 htracting Co. TOTAL COST \$6,500.00 \$2,800.00 \$3,000.00 \$900.00
LINE 10 20 30 40 50	SUBTOTALS Site 2 - 15406.1078272 - NC 72 DESCRIPTION Mobilization Grading Traffic Control Silt Fence Class B Stone (Includes Geotextile Fabric) Matting for Erosion Control	<b>QNTY</b> . 1 1 1 150 70	LS LS LF TON	UNIT COST \$5,000.00 \$2,000.00 \$6,000.00 \$2.00 \$50.00	TOTAL           COST           \$5,000.00           \$2,000.00           \$6,000.00           \$300.00           \$3,500.00	UNIT COST \$2,300.00 \$7,500.00 \$1,300.00 \$3.00 \$50.00	Paving TOTAL COST \$2,300.00 \$7,500.00 \$1,300.00 \$450.00 \$3,500.00	UNIT COST \$6,000.00 \$500.00 \$2,500.00 \$6.00 \$90.00	Construction TOTAL COST \$6,000.00 \$500.00 \$2,500.00 \$900.00 \$6,300.00	UNIT COST \$8,000.00 \$2,500.00 \$2,600.00 \$6.00 \$100.00	s Utilities TOTAL COST \$8,000.00 \$2,500.00 \$2,600.00 \$900.00 \$7,000.00	UNIT COST \$6,500.00 \$2,800.00 \$3,000.00 \$6.00 \$145.00	\$31,625.00 htracting Co. TOTAL COST \$6,500.00 \$2,800.00 \$3,000.00 \$900.00 \$10,150.00
LINE 10 20 30 40 50 60 70 80	SUBTOTALS Site 2 - 15406.1078272 - NC 72 DESCRIPTION Mobilization Grading Traffic Control Silt Fence Class B Stone (Includes Geotextile Fabric) Matting for Erosion Control (Non-Nylon)	QNTY. 1 1 1 150 70 150 1 50	LS LS LF TON SY LS LF	UNIT COST \$5,000.00 \$2,000 \$6,000.00 \$2.00 \$50.00 \$2.00 \$2.00 \$2.00 \$2.00	TOTAL           COST           \$5,000.00           \$2,000.00           \$2,000.00           \$6,000.00           \$300.00           \$3,500.00           \$3,500.00           \$200.00           \$200.00	UNIT COST \$2,300.00 \$7,500.00 \$1,300.00 \$3.00 \$50.00 \$50.00 \$5.00 \$1,000.00 \$10.00	Paving TOTAL COST \$2,300.00 \$7,500.00 \$1,300.00 \$450.00 \$3,500.00 \$1,000.00 \$1,000.00	UNIT COST \$6,000.00 \$500.00 \$2,500.00 \$6.00 \$90.00 \$5.00 \$5.00	Construction TOTAL COST \$6,000.00 \$500.00 \$2,500.00 \$900.00 \$6,300.00 \$750.00 \$500.00 \$250.00	UNIT COST \$8,000.00 \$2,500.00 \$2,600.00 \$6.00 \$100.00 \$15.00	S Utilities           TOTAL           COST           \$8,000.00           \$2,500.00           \$2,600.00           \$2,600.00           \$2,600.00           \$2,600.00           \$2,600.00           \$2,600.00           \$1,800.00           \$750.00	UNIT COST \$6,500.00 \$2,800.00 \$3,000.00 \$6.00 \$145.00 \$5.00	\$31,625.00 htracting Co. TOTAL COST \$6,500.00 \$2,800.00 \$3,000.00 \$3,000.00 \$900.00 \$10,150.00 \$750.00 \$2,750.00

	Site 3 - 15406.1078273 - US 74			Baxley Co	orporation	Highland	Paving	Rufus Young	g Construction	Columbu	s Utilities	Barnhill Contracting Co.	
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$5,000.00	\$5,000.00	\$6,215.00	\$6,215.00	\$4,500.00	\$4,500.00	\$12,000.00	\$12,000.00	\$6,500.00	\$6,500.00
20	Grading	1	LS	\$2,000.00	\$2,000.00	\$11,465.00	\$11,465.00	\$400.00	\$400.00	\$2,500.00	\$2,500.00	\$4,500.00	\$4,500.00
30	Traffic Control	1	LS	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00	\$3,000.00	\$3,000.00	\$5,500.00	\$5,500.00	\$3,500.00	\$3,500.00
40	Silt Fence	150	LF	\$2.00	\$300.00	\$3.00	\$450.00	\$2.00	\$300.00	\$6.00	\$900.00	\$6.00	\$900.00
50	Class B Stone (Includes Geotextile Fabric)	100	TON	\$50.00	\$5,000.00	\$50.00	\$5,000.00	\$90.00	\$9,000.00	\$90.00	\$9,000.00	\$145.00	\$14,500.00
60	Matting for Erosion Control (Non-Nylon)	150	SY	\$2.00	\$300.00	\$5.00	\$750.00	\$5.00	\$750.00	\$15.00	\$2,250.00	\$5.00	\$750.00
70	Seeding and Mulching	1	LS	\$200.00	\$200.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$1,800.00	\$1,800.00	\$2,750.00	\$2,750.00
80	Wattle	50	LF	\$5.00	\$250.00	\$10.00	\$500.00	\$5.00	\$250.00	\$15.00	\$750.00	\$15.00	\$750.00
	SUBTOTALS	<u></u>			\$19,050.00		\$33,380.00		\$18,700.00		\$34,700.00		\$34,150.00
	Site 4 - 15406.1078274 - US 74			Baxley Corporation		Highland Paving		Rufus Young Construction		Columbus Utilities		Barnhill Cor	ntracting Co.
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$56,700.00	\$56,700.00	\$10,000.00	\$10,000.00	\$6,500.00	\$6,500.00
20	Grading	1	LS	\$2,000.00	\$2,000.00	\$11,465.00	\$11,465.00	\$800.00	\$800.00	\$2,500.00	\$2,500.00	\$4,500.00	\$4,500.00
30	Traffic Control	1	LS	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00	\$1.00	\$1.00	\$5,500.00	\$5,500.00	\$3,500.00	\$3,500.00
40	Silt Fence	100	LF	\$2.00	\$200.00	\$3.00	\$300.00	\$10.00	\$1,000.00	\$6.00	\$600.00	\$6.00	\$600.00
50	Class B Stone (Includes Geotextile Fabric)	100	TON	\$60.00	\$6,000.00	\$50.00	\$5,000.00	\$90.00	\$9,000.00	\$90.00	\$9,000.00	\$145.00	\$14,500.00
60	Matting for Erosion Control (Non-Nylon)	210	SY	\$2.00	\$420.00	\$5.00	\$1,050.00	\$5.00	\$1,050.00	\$15.00	\$3,150.00	\$5.00	\$1,050.00
70	Seeding and Mulching	1	LS	\$200.00	\$200.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$1,800.00	\$1,800.00	\$2,750.00	\$2,750.00
80	Wattle	50	LF	\$5.00	\$250.00	\$10.00	\$500.00	\$5.00	\$250.00	\$15.00	\$750.00	\$15.00	\$750.00
90	Floating Turbidity Curtain	70	SY	\$5.00	\$350.00	\$38.00	\$2,660.00	\$20.00	\$1,400.00	\$10.00	\$700.00	\$80.00	\$5,600.00
	SUBTOTALS	<u></u>			\$20,420.00		\$32,475.00		\$70,701.00		\$34,000.00		\$39,750.00

	Site 5 - 15406.1078275 - US 74	Ļ		Baxley Co	orporation	Highland	Paving	Rufus Young	g Construction	Columbu	ıs Utilities	Barnhill Cor	ntracting Co.
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$20,000.00	\$20,000.00	\$12,000.00	\$12,000.00	\$6,500.00	\$6,500.00
20	Grading	1	LS	\$2,000.00	\$2,000.00	\$15,000.00	\$15,000.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$2,800.00	\$2,800.00
30	Traffic Control	1	LS	\$6,000.00	\$6,000.00	\$12,000.00	\$12,000.00	\$4,500.00	\$4,500.00	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00
40	Class II Stone	150	TON	\$60.00	\$9,000.00	\$55.00	\$8,250.00	\$100.00	\$15,000.00	\$120.00	\$18,000.00	\$100.00	\$15,000.00
50	Silt Fence	100	LF	\$2.00	\$200.00	\$3.00	\$300.00	\$10.00	\$1,000.00	\$6.00	\$600.00	\$6.00	\$600.00
60	Class B Stone (Includes Geotextile Fabric)	150	TON	\$60.00	\$9,000.00	\$50.00	\$7,500.00	\$90.00	\$13,500.00	\$100.00	\$15,000.00	\$100.00	\$15,000.00
70	Matting for Erosion Control (Non-Nylon)	210	SY	\$2.00	\$420.00	\$5.00	\$1,050.00	\$5.00	\$1,050.00	\$15.00	\$3,150.00	\$5.00	\$1,050.00
80	Seeding and Mulching	1	LS	\$200.00	\$200.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,800.00	\$1,800.00	\$2,750.00	\$2,750.00
90	Wattle	50	LF	\$5.00	\$250.00	\$10.00	\$500.00	\$5.00	\$250.00	\$15.00	\$750.00	\$15.00	\$750.00
100	Floating Turbidity Curtain	70	SY	\$5.00	\$350.00	\$38.00	\$2,660.00	\$20.00	\$1,400.00	\$10.00	\$700.00	\$80.00	\$5,600.00
	SUBTOTALS				\$32,420.00		\$50,760.00		\$59,200.00		\$62,000.00		\$55,050.00
	Site 6 - 15406.1078276 - US 74			Baxley Co	orporation	Highland Paving		Rufus Young Construction		Columbus Utilities		Barnhill Cor	ntracting Co.
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$6,500.00	\$6,500.00
20	Grading	1	LS	\$2,000.00	\$2,000.00	\$9,000.00	\$9,000.00	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$4,500.00	\$4,500.00
30	Traffic Control	1	LS	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00	\$3,000.00	\$3,000.00	\$5,500.00	\$5,500.00	\$3,500.00	\$3,500.00
40	Silt Fence	100	LF	\$2.00	\$200.00	\$3.00	\$300.00	\$5.00	\$500.00	\$6.00	\$600.00	\$6.00	\$600.00
50	Class B Stone (Includes Geotextile Fabric)	50	TON	\$50.00	\$2,500.00	\$50.00	\$2,500.00	\$90.00	\$4,500.00	\$100.00	\$5,000.00	\$180.00	\$9,000.00
60	Matting for Erosion Control (Non-Nylon)	210	SY	\$2.00	\$420.00	\$5.00	\$1,050.00	\$5.00	\$1,050.00	\$15.00	\$3,150.00	\$5.00	\$1,050.00
70	Seeding and Mulching	1	LS	\$200.00	\$200.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,800.00	\$1,800.00	\$2,750.00	\$2,750.00
80	Wattle	50	LF	\$5.00	\$250.00	\$10.00	\$500.00	\$5.00	\$250.00	\$15.00	\$750.00	\$15.00	\$750.00
90	Floating Turbidity Curtain	70	SY	\$5.00	\$350.00	\$38.00	\$2,660.00	\$20.00	\$1,400.00	\$10.00	\$700.00	\$80.00	\$5,600.00
	SUBTOTALS	1			\$16,920.00		\$27,510.00		\$20,200.00		\$28,000.00		\$34,250.00

	Site 7 - 15406.1078277 - US 74			Baxley Co	orporation	Highland	Paving	Rufus Young	g Construction	Columbu	ıs Utilities	Barnhill Contracting Co.	
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$8,000.00	\$8,000.00	\$12,000.00	\$12,000.00	\$6,500.00	\$6,500.00
20	Grading	1	LS	\$2,000.00	\$2,000.00	\$9,800.00	\$9,800.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$4,500.00	\$4,500.00
30	Traffic Control	1	LS	\$6,000.00	\$6,000.00	\$9,000.00	\$9,000.00	\$3,000.00	\$3,000.00	\$5,500.00	\$5,500.00	\$3,500.00	\$3,500.00
40	Silt Fence	100	LF	\$2.00	\$200.00	\$3.00	\$300.00	\$5.00	\$500.00	\$6.00	\$600.00	\$6.00	\$600.00
50	Class B Stone (Includes Geotextile Fabric)	152	TON	\$50.00	\$7,600.00	\$50.00	\$7,600.00	\$90.00	\$13,680.00	\$90.00	\$13,680.00	\$100.00	\$15,200.00
60	Matting for Erosion Control (Non-Nylon)	210	SY	\$2.00	\$420.00	\$5.00	\$1,050.00	\$5.00	\$1,050.00	\$15.00	\$3,150.00	\$5.00	\$1,050.00
70	Seeding and Mulching	1	LS	\$200.00	\$200.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,800.00	\$1,800.00	\$2,750.00	\$2,750.00
80	Wattle	50	LF	\$5.00	\$250.00	\$10.00	\$500.00	\$5.00	\$250.00	\$15.00	\$750.00	\$15.00	\$750.00
90	Floating Turbidity Curtain	70	SY	\$5.00	\$350.00	\$38.00	\$2,660.00	\$20.00	\$1,400.00	\$10.00	\$700.00	\$80.00	\$5,600.00
	SUBTOTALS				\$22,020.00		\$35,410.00		\$29,880.00		\$40,680.00		\$40,450.00
	TOTALS				\$144,530.00		\$220,245.00		\$229,831.00		\$251,080.00		\$262,875.00
	Site 1 - 15406.1078268 - US 74			Wells Brot	hers Const.	TARA Group		Graham Co. Land Co.		Browe Construction		BMCO Co	onstruction
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$3,500.00	\$3,500.00	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$3,500.00	\$3,500.00	\$5,800.00	\$5,800.00
20	Grading	1	LS	\$3,400.00	\$3,400.00	\$15,000.00	\$15,000.00	\$9,000.00	\$9,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
30	Traffic Control	1	LS	\$1,800.00	\$1,800.00	\$14,000.00	\$14,000.00	\$7,000.00	\$7,000.00	\$15,000.00	\$15,000.00	\$85,000.00	\$85,000.00
40	Silt Fence	150	LF	\$6.00	\$900.00	\$2.50	\$375.00	\$6.00	\$900.00	\$10.00	\$1,500.00 **	\$4.00	\$600.00
50	Class B Stone (Includes Geotextile Fabric)	35	TON	\$190.00	\$6,650.00	\$70.00	\$2,450.00	\$98.00	\$3,430.00	\$200.00	\$7,000.00	\$110.00	\$3,850.00
60	Matting for Erosion Control (Non-Nylon)	150	SY	\$4.00	\$600.00	\$4.00	\$600.00	\$8.00	\$1,200.00	\$20.00	\$3,000.00	\$9.50	\$1,425.00
70	Seeding and Mulching	1	LS	\$1,600.00	\$1,600.00	\$200.00	\$200.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$8,000.00	\$8,000.00
80	Wattle	50	LF	\$10.00	\$500.00	\$6.00	\$300.00	\$9.00	\$450.00	\$20.00	\$1,000.00	\$10.00	\$500.00
90	Floating Turbidity Curtain	70	SY	\$60.00	\$4,200.00	\$15.00	\$1,050.00	\$25.00	\$1,750.00	\$50.00	\$3,500.00	\$25.00	\$1,750.00
	SUBTOTALS				\$23,150.00		\$43,975.00		\$33,230.00		\$52,500.00 **		\$121,925.00

	Site 2 - 15406.1078272 - NC 72			Wells Brot	hers Const.	TARA (	Group	Graham C	o. Land Co.	Browe Co	onstruction	BMCO Construction	
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$4,500.00	\$4,500.00	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$3,500.00	\$3,500.00	\$2,700.00	\$2,700.00
20	Grading	1	LS	\$3,500.00	\$3,500.00	\$12,000.00	\$12,000.00	\$9,000.00	\$9,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
30	Traffic Control	1	LS	\$2,000.00	\$2,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00
40	Silt Fence	150	LF	\$7.00	\$1,050.00	\$2.50	\$375.00	\$6.00	\$900.00	\$10.00	\$1,500.00	\$4.00	\$600.00
50	Class B Stone (Includes Geotextile Fabric)	70	TON	\$210.00	\$14,700.00	\$60.00	\$4,200.00	\$98.00	\$6,860.00	\$200.00	\$14,000.00	\$85.00	\$5,950.00
60	Matting for Erosion Control (Non-Nylon)	150	SY	\$4.00	\$600.00	\$4.00	\$600.00	\$8.00	\$1,200.00	\$20.00	\$3,000.00	\$8.50	\$1,275.00
70	Seeding and Mulching	1	LS	\$1,500.00	\$1,500.00	\$200.00	\$200.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00
80	Wattle	50	LF	\$10.00	\$500.00	\$6.00	\$300.00	\$9.00	\$450.00	\$20.00	\$1,000.00	\$10.00	\$500.00
	SUBTOTALS				\$28,350.00		\$33,675.00		\$35,910.00		\$56,000.00		\$56,025.00
	Site 3 - 15406.1078273 - US 74			Wells Brothers Const.		TARA Group		Graham Co. Land Co.		Browe Construction		BMCO Co	nstruction
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$3,400.00	\$3,400.00	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00
20	Grading	1	LS	\$5,200.00	\$5,200.00	\$18,000.00	\$18,000.00	\$9,000.00	\$9,000.00	\$30,000.00	\$30,000.00	\$15,000.00	\$15,000.00
30	Traffic Control	1	LS	\$4,500.00	\$4,500.00	\$20,000.00	\$20,000.00	\$8,000.00	\$8,000.00	\$20,000.00	\$20,000.00	\$45,000.00	\$45,000.00
40	Silt Fence	150	LF	\$6.00	\$900.00	\$2.50	\$375.00	\$6.00	\$900.00	\$10.00	\$1,500.00	\$4.00	\$600.00
50	Class B Stone (Includes Geotextile Fabric)	100	TON	\$150.00	\$15,000.00	\$70.00	\$7,000.00	\$98.00	\$9,800.00	\$200.00	\$20,000.00	\$85.00	\$8,500.00
60	Matting for Erosion Control (Non-Nylon)	150	SY	\$4.00	\$600.00	\$4.00	\$600.00	\$8.00	\$1,200.00	\$20.00	\$3,000.00	\$8.50	\$1,275.00
70	Seeding and Mulching	1	LS	\$1,600.00	\$1,600.00	\$200.00	\$200.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$8,000.00	\$8,000.00
80	Wattle	50	LF	\$10.00	\$500.00	\$6.00	\$300.00	\$9.00	\$450.00	\$20.00	\$1,000.00	\$10.00	\$500.00
	SUBTOTALS	1	<u></u>		\$31.700.00		\$56.475.00	· · · · · · · · · · · · · · · · · · ·	\$38,850.00		\$82.000.00		\$82,875.00

	Site 4 - 15406.1078274 - US 74			Wells Brot	hers Const.	TARA	Group	Graham C	o. Land Co.	Browe Co	onstruction	BMCO Construction	
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$3,450.00	\$3,450.00	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$3,500.00	\$3,500.00	\$4,300.00	\$4,300.00
20	Grading	1	LS	\$6,900.00	\$6,900.00	\$18,000.00	\$18,000.00	\$12,000.00	\$12,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
30	Traffic Control	1	LS	\$9,500.00	\$9,500.00	\$20,000.00	\$20,000.00	\$11,000.00	\$11,000.00	\$20,000.00	\$20,000.00	\$45,000.00	\$45,000.00
40	Silt Fence	100	LF	\$6.00	\$600.00	\$2.50	\$250.00	\$6.00	\$600.00	\$10.00	\$1,000.00	\$4.00	\$400.00
50	Class B Stone (Includes Geotextile Fabric)	100	TON	\$150.00	\$15,000.00	\$70.00	\$7,000.00	\$175.00	\$17,500.00	\$200.00	\$20,000.00	\$85.00	\$8,500.00
60	Matting for Erosion Control (Non-Nylon)	210	SY	\$4.00	\$840.00	\$4.00	\$840.00	\$8.00	\$1,680.00	\$20.00	\$4,200.00	\$8.50	\$1,785.00
70	Seeding and Mulching	1	LS	\$1,650.00	\$1,650.00	\$200.00	\$200.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$8,000.00	\$8,000.00
80	Wattle	50	LF	\$10.00	\$500.00	\$6.00	\$300.00	\$9.00	\$450.00	\$20.00	\$1,000.00	\$10.00	\$500.00
90	Floating Turbidity Curtain	70	SY	\$60.00	\$4,200.00	\$15.00	\$1,050.00	\$25.00	\$1,750.00	\$50.00	\$3,500.00	\$25.00	\$1,750.00
	SUBTOTALS	1			\$42,640.00		\$57,640.00		\$54,480.00		\$76,200.00		\$90,235.00
	Site 5 - 15406.1078275 - US 74			Wells Brothers Const.		TARA Group		Graham Co. Land Co.		Browe Construction		BMCO Co	nstruction
LINE	DESCRIPTION	QNTY.		UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL	UNIT	TOTAL
				COST	COST	COST	COST	COST	COST	COST	COST	COST	COST
10	Mobilization	1	LS	\$5,750.00	\$5,750.00	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$3,500.00	\$3,500.00	\$4,700.00	\$4,700.00
20	Grading	1	LS	\$3,500.00	\$3,500.00	\$18,000.00	\$18,000.00	\$12,000.00	\$12,000.00	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00
30	Traffic Control	1	LS	\$1,000.00	\$1,000.00	\$10,000.00	\$10,000.00	\$11,000.00	\$11,000.00	\$25,000.00	\$25,000.00	\$35,000.00	\$35,000.00
40	Class II Stone	150	TON	\$132.00	\$19,800.00	\$78.00	\$11,700.00	\$125.00	\$18,750.00	\$200.00	\$30,000.00	\$125.00	\$18,750.00
50	Silt Fence	100	LF	\$6.00	\$600.00	\$2.50	\$250.00	\$6.00	\$600.00	\$10.00	\$1,000.00	\$4.00	\$400.00
60	Class B Stone (Includes Geotextile Fabric)	150	TON	\$175.00	\$26,250.00	\$70.00	\$10,500.00	\$125.00	\$18,750.00	\$200.00	\$30,000.00	\$85.00	\$12,750.00
70	Matting for Erosion Control (Non-Nylon)	210	SY	\$4.00	\$840.00	\$4.00	\$840.00	\$8.00	\$1,680.00	\$20.00	\$4,200.00	\$8.50	\$1,785.00
80	Seeding and Mulching	1	LS	\$1,600.00	\$1,600.00	\$200.00	\$200.00	\$1,500.00	\$1,500.00	\$3,500.00	\$3,500.00	\$8,000.00	\$8,000.00
90	Wattle	50	LF	\$10.00	\$500.00	\$6.00	\$300.00	\$9.00	\$450.00	\$20.00	\$1,000.00	\$10.00	\$500.00
100	Floating Turbidity Curtain	70	SY	\$60.00	\$4,200.00	\$15.00	\$1,050.00	\$25.00	\$1,750.00	\$50.00	\$3,500.00	\$25.00	\$1,750.00
	SUBTOTALS				\$64,040.00		\$62,840.00		\$74,480.00		\$126,700.00		\$98,635.00

	Site 6 - 15406.1078276 - US 74			Wells Brot	hers Const.	TARA (	Group	Graham C	o. Land Co.	Browe Co	onstruction	BMCO Construction	
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$4,250.00	\$4,250.00	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$3,500.00	\$3,500.00	\$3,850.00	\$3,850.00
20	Grading	1	LS	\$3,000.00	\$3,000.00	\$14,000.00	\$14,000.00	\$12,000.00	\$12,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
30	Traffic Control	1	LS	\$10,000.00	\$10,000.00	\$12,000.00	\$12,000.00	\$11,000.00	\$11,000.00	\$15,000.00	\$15,000.00	\$45,000.00	\$45,000.00
40	Silt Fence	100	LF	\$5.00	\$500.00	\$2.50	\$250.00	\$6.00	\$600.00	\$10.00	\$1,000.00	\$4.00	\$400.00
50	Class B Stone (Includes Geotextile Fabric)	50	TON	\$153.00	\$7,650.00	\$70.00	\$3,500.00	\$98.00	\$4,900.00	\$200.00	\$10,000.00	\$85.00	\$4,250.00
60	Matting for Erosion Control (Non-Nylon)	210	SY	\$4.00	\$840.00	\$4.00	\$840.00	\$8.00	\$1,680.00	\$20.00	\$4,200.00	\$8.50	\$1,785.00
70	Seeding and Mulching	1	LS	\$1,650.00	\$1,650.00	\$200.00	\$200.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$8,000.00	\$8,000.00
80	Wattle	50	LF	\$10.00	\$500.00	\$6.00	\$300.00	\$9.00	\$450.00	\$20.00	\$1,000.00	\$10.00	\$500.00
90	Floating Turbidity Curtain	70	SY	\$56.00	\$3,920.00	\$15.00	\$1,050.00	\$25.00	\$1,750.00	\$50.00	\$3,500.00	\$25.00	\$1,750.00
	SUBTOTALS				\$32,310.00		\$40,140.00		\$41,880.00		\$55,700.00		\$80,535.00
	Site 7 - 15406.1078277 - US 74			Wells Brothers Const.		TARA Group		Graham Co. Land Co.		Browe Construction		BMCO Co	nstruction
LINE	DESCRIPTION	QNTY.		UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	Mobilization	1	LS	\$9,500.00	\$9,500.00	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$3,500.00	\$3,500.00	\$4,050.00	\$4,050.00
20	Grading	1	LS	\$5,250.00	\$5,250.00	\$16,000.00	\$16,000.00	\$20,000.00	\$20,000.00	\$28,000.00	\$28,000.00	\$15,000.00	\$15,000.00
30	Traffic Control	1	LS	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$18,000.00	\$18,000.00	\$28,000.00	\$28,000.00	\$40,000.00	\$40,000.00
40	Silt Fence	100	LF	\$6.00	\$600.00	\$2.50	\$250.00	\$6.00	\$600.00	\$10.00	\$1,000.00	\$4.00	\$400.00
50	Class B Stone (Includes Geotextile Fabric)	152	TON	\$120.00	\$18,240.00	\$70.00	\$10,640.00	\$125.00	\$19,000.00	\$200.00	\$30,400.00	\$85.00	\$12,920.00
60	Matting for Erosion Control (Non-Nylon)	210	SY	\$4.00	\$840.00	\$4.00	\$840.00	\$8.00	\$1,680.00	\$20.00	\$4,200.00	\$8.50	\$1,785.00
70	Seeding and Mulching	1	LS	\$2,000.00	\$2,000.00	\$200.00	\$200.00	\$1,500.00	\$1,500.00	\$3,500.00	\$3,500.00	\$8,000.00	\$8,000.00
80	Wattle	50	LF	\$10.00	\$500.00	\$6.00	\$300.00	\$9.00	\$450.00	\$20.00	\$1,000.00	\$10.00	\$500.00
90	Floating Turbidity Curtain	70	SY	\$56.00	\$3,920.00	\$15.00	\$1,050.00	\$25.00	\$1,750.00	\$50.00	\$3,500.00	\$25.00	\$1,750.00
	SUBTOTALS				\$50,850.00		\$57,280.00		\$70,980.00		\$103,100.00		\$84,405.00
	TOTALS				\$273,040.00		\$352,025.00		\$349,810.00 **		\$552,200.00 **		\$614,635.00

\*\* Corrected Upon Bid Review